TK =r@ms

® 8

GEFRAN

1. €5E : % 0...3 ¥/ 0...1000 bar » #EHE -1...+1 #) -1...+10 bar

2. BHEE
4..20 mA (21g)

0.1...5.1Vdc/0.1...10.1 Vdc/0...5 Vdc/0...10 Vdc/

1...5Vdc/1...10 Vdc
3. [hFEEHR - IP65/IP6T
4, EAERESAIERMF 1 AISI 430F 0 17-4PH
5. AR ZEEITERE - BERENER

C

TK BH @R EABREEERNRIERG - AEASRENBEFHEN - AT UAERERERMEREENE
SERIRR - TKBNERBERFTARAER - TREREERRAN - Wl UAREMNBIZR SRR BEE

BRSBTS -
X ¥ fiT A

€

SR BR | B

N + 0.250 ical ( 0.3

W (1) 2 0590 1S typical (2 060 FS )

AIEEE 0..3 barto 0...1000 bar ; -1...+1 bar to -1...+10 bar

R R

RESRASBE (REHEMREERT) (2) 2R RIK

BB (FRIE) (3) B R RIEK

BhHNE £ Inox 17-4 PH/AISI 430F A% ES

N E 858 AISI 304

TR (4) NG 1530 Ve -

BREWE <0.0015% FS/V

IS (RMS 10-400 Hz) <0.05% FS

FBi%ErE >1000 MQ @ 50 Vdc

EMHLER B,C,M,N,P,Q,R 4 mA (E)

2R EE LS B,C,M,N,P,Q,R 20 mA (E)

RAERRUL 13mA 32mA

RATFEH 1 mA 2R afE

REAREEM <0.2% FS/per year

BRIEREEE (BIE) -40...+105°C (-40...+221°F)

HEREEHE -10...+85°C (+14...+185°F)

REREEHE -40...+125°C (-40...+257°F)

REBENNAEYE BEE) + 0.012% FS/°C typical (+ 0.02% FS/°C max.)

R FERERS (10...90% FS) <1 msec.

BRENRFR <500 msec.

REMBRRE A 28

RE =5Z 100% RH EfEE

52 ZB110g

ERRE 250 Vdc

IS 100 g/11 ms according to IEC 60068-2-27

=3 20 g max at 10-2000Hz according to IEC 60068-2-6

R FEERA IP65/IP66/IP6T

) Y AT B A S AR M (R 8 ]

FS=2%|E

1. BFSL (RfEERAZE) « BIEIHEN  ERNERENTE

2. AIEHEBIE 10007k - BERFFAERFR < 2msec.

3. AIEEE 1007k » BARIHERE < 2msec.
=18 (Bar)|-1/+1|-1/+2|-1/+3|-1/+5|-1/+10| 3 |4 | 5| 6 | 7 |10|16(20( 25|30 |40 | 50 | 60 [{100{160/200( 250 | 350 | 400 | 500 | 600 | 700 |1000
3B ER 2 4 6 10 20 | 6|8 (10(12{14]2032|40| 50| 60 | 80 |100(120|200/320|400| 500 | 700 [ 800 |1000{1200{1200{1200
JRBAIE | 12 12 12 | 20 40 |112(16(20]24]28|40|64(80(100(120/160/200{240(400(640|800/1000{1200{1200{1200}1500|1500{1500




GEFRAN
=R~

Dimensions: mm [inches] 84
[3.307]
Ch 22
ik
I o3
of IS
2 12
[0.079] [0.472]
L=70
[2.756]

(1) G1/4 MALE (DIN 3852-A) (2) SAE 04 AS4395-E
Y I IF = wfiy’ 5 =
5 ik - I
P L
ch 22/ Ch 22/ §
L N S &
2 155 |
[0.2079] [0.14272] [o.079] 10611 ™
(3) G1/2 A (DIN 16288) (4) G 1/4 FEMALE
oseT] 13
[0.512]
i S |
o B =T g
Ch 22 ‘ -
L 20 S L+7mm 2
" [0.787] [0.197] [0.079]
= EREE
P-7 PIN E4%5E V-6 PIN iEi%58 F-4 PIN EiE45
013 ¥
d N 8
=) I
3 S R o
I B RGN R 1 DI
= ﬂl o~ I~
/_\/\ — /_\/\ L—
Z-4 PIN iE3EER E-4 PIN 5EiE5E M-4 PIN 5Ei%58
M12 X 1 EN 175301-803A EN 175301-803C
P 18 mm
P9.5 mm
— Ao’ =y M=
3 3 pis i
e e~ —1— al =




= EREE- EES

GEFRAN

P-7 PIN 5#§#%88 M16 X 0.75

PhEEER IP6T

Z-M12 X 1 EkEs8

4 PIN R¥#5R
Prs&EAR 1P6T

V-6 PIN -E[iEi%23

P& &k IP66

E-EN 175301-803A
M-EN 175301-803C

4 PIN 2B A » BhsEER IP65
4 PIN 582! C - PhEEMR IP65

F-2PIN &8

FREAVEEHE 2 X 0.25-2 m. (Output E)
Prs&AR 1P65

F-4 PIN B

PRBEEIEERE 4 X 0.25-2m
P& AR IP65

= BREE-EEE =BHE
& B & H fK-mod. B/C/M/N/P/Q/R S~
cod.V | cod.P | cod.F |cod. EM| cod.z me A
sz : n
| 7| mimE ; i 2 z i .
A% 800 -
+ A 3 I 1 1 = — —
N P 4 |=mmz| 2 2 _, 600 /i
Ll oA | A | &= | © P15 ;_; 400— Aol aEm
u 1 +++++++ EgIEtEE
BRI A-mod. E by e N R
cod.V | cod.P | cod.F |cod. E/M| cod.Z 200+ — — — — Z :_L:+;t:%++
| R el A 3 s 1 1 0%
1 mag
& | g 4 | =mmm| 2 5 0O 5 10 15 20 25 30 Vde
oA -
EIRER
Ll a8 | s | &= | © v
= AR 1R 20K 1R R B 4
B A HRER
CONOO6: EBL-4PINAEY » EN175301-803 » BHsES#K IP65
CONO008: MEL-A4PINCH! » EN175301-803 » Bhs&EZ#K IP65
CON293: ZBI-4PINEEZS » BHEEFRK IP6T
CON321:PEL-TPIN BEEEESS ' HEEFHRIP6T
CON300:VE-6PIN EBERES @ FHEFKIP66 EiEEEREE
HEiER E))
ERIG A #I
CO8WLS : 6 PIN 5E#%58 - B2 8 m (25 ft) Ef& B =/E
C15WLS : 6 PINE#E#£58 » Big 15m (50 ft) 48 C =
C30WLS : 6 PINE$#%58 » B2 30 m (100 ft) EfE D %
HMWEEMSEH E 25
F =




GEFRAN

= ET RS
TK LTI ]

& H S5 AIRIRE R T HE AR ZE R FERY

mE BRI -
0.1...10.1 Vdc C
4..20 mA E % FERs
0...10 Vdc —_—— N 1R5E (< 1 msec) \Y
0.1...5.1Vvdc B
0...5Vdc M YEREE
1...5Vdc P + 0.25% FS Typical H
1...10Vdc Q + 0.5% FS Typical M
1...6 Vdc R
BRjER B E

R bar bar psi
G 1/4 gas male (DIN 3852-A) 1 NO1U| -1.+1* | BO3D | 0..30 V15U | -15.+15*
Zs//ig'i%gr'\‘:s'i ?92‘?51)6 2 NO2U | -1.+2* | B04D | 0.40 || V03D |-15.+30"
G1/2A (DIN 16289) 3 NO3U | -1.+3* | BO5D | 0..50 V05D | -15..+50 *

TEEREE NO5U| -1.+5 | B0O6D | 0..60 V75U | -15.+75

G 1/4 gas female ) NO1D | -1..+10 | BO1C | 0..100 || VO1C | -15..+100
1/8-27 NPT female 5 Bo3u| 0.3 | Bl6D| 0.160 || POSD | 0..50
1/4-18 NPT female 6 B04U 0.4 B02C | 0..200 P75U 0..75
1/4-18 NPT male 7 BO5U 0..5 B25D | 0..250 P01C 0..100
M14 X 1.5 male 8 BO6U| 0.6 | B35D| 0.350 || P15D | 0..150
1/8-27 NPT male 9 BO7U| 0.7 | B04C| 0.400 || P25D | 0..250
G 1/4 gas male (DIN 3852-E) E BO1ID | 0..10 | BO5C | 0..500 PO3C | 0..300
M12 X 1.5 male R B16U| 0.16 | B06C | 0..600 PO5C | 0..500
(75/ Al\g-i%gr'\'ﬁngz n;)a%‘f) K B02D | 0.20 | BO7C | 0.700 || P75D| 0..750
7716-20 UNF-2 Afernale - B25U| 0.25 | BOIM| 0..1000 || PO1IM| 0..1000
(SAE 4) “fESE A RIS TEE M P15C | 0.1500
(*) ®ALEEES : 630 bar (9137 psi) P25C | 0..2500
EEEE PO3M | 0..3000

TE PO5M | 0..5000
EN 175301-803 ¥ A (P18 mm) | E P75C | 0..7500
REEEIEE F P10M | 0..10000
4PINEREREMI2 X 1 Z P15M | 0..15000

AIFEEKRIR

EN 175301-803 C (P9.5 mm) M RIERZZE
7 PIN #2588 M16 X 0.75 P GEFRAN &iERIRFEER - WRFSBERIZENNE
6 PIN £ O:&#E28 Vv BRIWIEEFETRE -

#f -
TK-E-1-E-B04C-H-V
TK B/3{ER%E8 © 4..20 mA B {557 » G 1/4 1RSI J75&H; - DIN 43650A E28:EHE » 0...400 bar BHEEE - FFHEE + 0.25% -
1 msec A FERFFE
RBIBLER S ©
-EMC2014/30/EU A MIES
-RoHS 2011/65/EU 5%
BERTEERMEKFZ A Gefran s L1 www.gefran.com
m GEFRAN reserves the right to make any kind of design or functional modification at any moment without prior notice. BRI © DTS_TK_03-2021_ENG





